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Solve:

1.

4%2—6X—5 =0
34+ 2429 3- 2429
[A] ,
4 4
(5] 34429 3-429
4 4
—34+ 2729 —3- 2429
[C] ,
4 4
-3 +@ —3—@
[D] ,
4 4
32 +2Xx-3 =0
1+ 2410 1= 2410
[A] ,
3 3
“1+ 2410 —1- 2410
[B] ,
3 3
1+\/ﬁ 1-@
(€] —3— —
—1+\/E —l—m
[D] ,
3 3
x> = 5x+4

[A] 5 + V41,5 — V41
]5+\/ﬂ 5 - 441

[B
2 2
] —5+2\/H, —5—2\/5

[D] -5 + <41, -5 — /41

4.

NAME:
X* = —5x+2
[A] =5 + /33, =5 — /33
(B] —5+ 433 -5 -433
2 ’ 2
5+433 5-433
[C] 5 5

[D] 5 + /33,5 — /33

Which expression could you use to solve
4X* +3X = 5=07?

(A] 3+ 4/3% — 4(4)(-5)

2(4)

B 3 V4 - 4(4)(5)

2(4)

€] —4 + |4 — 43)(-5)

2(3)

L J& = 4(3)(=5)

2(3)

] - 3+ 4/37 — 4(4)(-5)

2(4)
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